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PART A

FOR EACH OF THE FOLLOWING QUESTIONS IN PART A, ENTER THE MOST APPROPRIATE RESPONSE ON
THE OMR SHEET.

Al.  Consider a solid disk and a solid sphere. Fach object is mounted on an axle through its centre so
that it is free to rotate without friction. The mass and radius of the disk is the same as the mass
and radius of the sphere. Equal torques are now applied to the disk and the sphere. How does

D the angular acceleration of the disk, sk, compare to the angular acceleration of the sphere,
ety !
. _ 3
(A) Gy ™ OSpHERE (B) apsk = + ospurre (C) s = £ tspnppe
DY s = 4 agpnpre E) apisk = 3 ospiare - = T .«
(D) o™ 3 cgpnpre (E) apisk = Jospuere 57prz T = Idoid s%s

A2, As shown in the accompanying figure, a sculpture

has its centre of gravity located 1.80 m above the IA
centre of its base. The base is a square with a side of 5. D
110 m. To what angle @ can the sculpture be tipped <y = MR
before it {alls over? z
, ‘ MR
A (A) 17° (B) 23° .
(C) 45° (D) 33° : b / o4 = Gl
AT = / s
(E) 27° B 1 50m 5
"ﬂppinﬁ ocews whem CG moves PM+ - /
. = ; e
He contact poiat of the base . PR RN 4 LB
_ 0.55 = ° '
+M‘9rnax = m = QmQa( I 7
A3, A glass of ice water is filled to the brim with water; the ice cubes stick up above the water = Mce
surface. After the ice melts, which one of the following statements is TRUE? '“dt-’:g:uﬂl
w
B (A} The water level is below the top of the glass.
(B) The water level 1s at the top of the glass but no water has spilled. Aizploced ("t s"mﬁw oder

{Cy Some water hias spitled over the sides of the glass.
(Dy Il is impossible to say what has happened without knowing the initial densities of the water

and the ice. When Hhe ice melts, the "missing” woder is exacHy replaced
(I} The water level is above the glass but the water does not spill over because of the surface

tension of water. " no d\a,“jg_ ia woader fe\rd

A4, Consider a rigid bar as shown in the diagram to the right. The bar is F
free 1o rotate about a fixed axis of rotation at its left end. A force F I i
acts on the bar as shown. The point of application of the force a
relative to the axis of rotation is given by the position vector T.

E Which one of the following statements regarding the torque on the

bar due to F is FALSE?

ey

(A} The component of F that is anti-paratlel to T does not contribute to the torque. T
(B) The magnitude of the lorque dependson 6. 1

{C)  According to the sign convention used in class, F is exerting a negative torque on the bar. T
(1) The magnitude of the torque equals the product of the magnitude of T and the magnitude

of the component of P that is perpendicular to 7, i.e. F| = }Fix;fit. T
() If the point of application of the force is moved to the right end of the bar, but the
magnitude and direction of F remain the same, the torque exerted on the bar remains the

same. F
C oo \‘ﬁ’(

AS. A constant power,source is emitting sound uniformly in all directions. The intensity at a distance
of 7 from the source is J,. At what distance from the source is the intensity + 4,7

E (A} }4 Yo B) 4r, €) 12. Fy (D) []? Vo (Ey Zr,

IM(%-Z

continued on page 3...
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Ab. A physical pendulum consists of a circular hoop of radius R and mass M which is anchored to a
wall through a nail that goes through a peint on the hoop. The hoop is free to oscillate about the
anchor point, Its period of oscillation is compared to the period of oscillation of a simple

A pendulum with a mass exactly equal to 24, The two periods of oscillations will ual if the
length of the simple pendulum is equal to T, = T = Wt W, = / mgﬁ/ f:_
(AY R B) 2R (C) 3R/2. D) 3R () %2R
MeBier = JI = R-=L

A7. A moving van and a small car are traveling in the same direction on a two-lane road. The van is
moving at twice the speed of the car and overtakes it. The driver of the car sounds his horn,
frequency 440 Haz, to signal the van that it is safe to return to the lane. Which one of the

8 following statements is TRUE? vam mou’mﬁ away = Vom deiver hears lowar
(A} The car driver and the truck driver both hear the horn frequency as 440 Hz. Mm“/

(B} The car driver hears 440 Hz but the van driver hears a lower frequency.

(€3 The car driver hears 440 Hz but the van driver hears a higher {requency.

{D} Both drivers hear the same frequency and it is lower than 440 Hz.

(E}  Both drivers hear the same frequency and it is higher than 440 Hz.

A8. A thin organ pipe open at both ends has a length £ = 1 m and is producing sound at its
fundamental frequency £, A second thin organ pipe sits next to the first and is closed at one end.
8 It too is producing sound at its fundamental frequency. A beat frequency of 5 Hz is heard when
the two pipes are playved at the same time. A possible value for the length of the second pipe is

(A 0.63m (B) 0.52m (€©) 1.15m (Dy 1.05m (E) 0.75m
The following diagram applies 10 questions A9 and A10. The diagram shows the graph of velocity

versus time for an object in simple harmonic motion. The period of the motion is 8 seconds and the
graph shows the velocity fromr=0to/=8s.

: k
08 N £= 17242
L/ / = K
04 - L W}&x = { U
L |
o e v 343w
S 0 B e T
413 2 4\ 6 /8
~0"4 ...f Tiﬁ‘l&.\? j/i ﬁ./ - )77 “2 oc lk?“e
/U= 0.485m or
0.8 - 0.5 m
A9. At what time or times is the object at the equilibrium point? A+ Fhe equiau‘ brivem fm'vd" )
{A) 0,45, 85 (B) 2sonly (C) 25,65 (D) 6sonly () 4sonly VU =Vp,

A10. At what time or times does the acceleration have its maximum amplitude? 0ox. accedm ot
{A) 0,45 85 (B) 2sonly (C) 25,65 (D) 6sonly (E) 4sonly a(u; !awmwf

ALl Before starting out on a long drive, you check the air in your car’s tires to make sure {hat ﬁ{t ey dre
properly inflated. The pressure gauge reads 199 kPa (an absolute pressure of 300 kPa) and the
temperature is 13 °C. After a few hours of highway (driving, you stop and check the pressure
again. The absolute pressure of the air in the tires is now 10% higher, What is the temperature
of the air in the tires now?

(A) stll 15°C  (B) 16.5°C (C) 13.5°C (D) 43.8°C (E) 150°C
PV = NLT | VN k Constant

P T
p,= liof, > T, = lioT, = Lio(15+273.05) - 2¥3.15

’rz = 1{ 3.8°%¢ continued on page 4.
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AlZ.  Consider an ideal gas whose temperature is increased from 20 °C to 40 °C. Which one of the
following statements concerning the change in the average kinetic energy of a gas molecule is
corrent?

C (A) The average kinetic energy doubles as the temperature increases from 20 °C 1o 40 °C,
(B} The average kinetic energy at 40 °C is half of its value at 20 °C.
(C} The average kinetic energy at 40 °C is larger than at 20 °C, but the factor that it increases is
fess than two.
(D) The average kinetic energy at 40 °C is less than at 20 °C, but the factor relating the Kinetic
energy at 40 °C to the kinetic energy at 20 °C is greater than V2. <K > = 3T
() There is no change in the average kinetic energy of the gas molecules. + 2

A13. If you place your hand underneath, but not touching, a pot of hot water, you mainly feel the in Kelvin
presence of heat due to

E (A) imterference, (B) conduction. (C) diffraction. (D) convection. (E) radiation.

Al4. A compound microscope is made from a combination of two lenses. Which one of the following
statements 1s TRUE?

(A) Both lenses form real images,

D (B} Both lenses form virtual images.
{C)  The lens closest to the object forms a virtual image; the other lens forms a real image.
(1) The lens closest to the object forms a real image; the other lens forms a virtual image.
(E) The lens closest to the object is always a diverging lens.

A5, Which one of the following statements coneerning electromagnetic waves is TRUE?

{(AY  The electric field is paratlel to the direction of propagation of the wave,
{B) The magnetic field is parallel to the direction of propagation of the wave.
D {C)  The electric and magnetic fields are paralle! to each other,
(D) The clectric and magnetic fields are perpendicular t each other and to the direction of
propagation,
(E)  The propagation speed of an electromagnetic wave in a vacuum is different for different
wave frequencies,

Al6,  The ctitical angle at the interface between a particular liguid and air is 48°. Which one of the
following statements best describes what happens to a ray of Hght, initially in air, that hits the
Hquid surface at an angle of incidence of 40°7

{A} Some of the Hght reflects and some enters the Heuid ~ the angle of transmission into the
A Hquid s less than 40°.
{By Some of the light reflects and some enters the Hquid - the angle of transmission into the
liquid is greater than 40°,
{C}  All of the light reflects — none of it transmits into the liguid.
(D) All of the light transmits into the Hquid at an angle of 40° - none of it reflects,
(B}  All of the Hght transmits into the liquid at an angle of 48° ~ none of it reflects,

Al7. Which one of the following statements correctly describes the process by which the human eye
adjusts to maintain focus on an object that is approaching the eye?

(A The focal length of the eye lens becomes shorter.
A (B} The focal length of the eve lens becomes longer.

{C)  The lens-retina distance increases.

(I3} The lens-retina distance decreases.

(E}  The diameter of the pupil increases.

Al8.  You wish to design a simple magnifier that has the largest possible angular magnification. You
have a choice of two converging lenses, the focal length of lens 1 is less than the focal length of
lens 2. Which one of the following setups will satisfy your design goal?

(A} Use lens | and place the object at the near point of the person using the magnifier.
C (B} Use lens 2 and place the object at the near point of the person using the magnifier.

{Cy Use lens 1 and place the object so that the image formed by the lens is at the near point of
the person using the magnifier.

(D) Use lens 2 and place the object so that the image formed by the lens is at the near point of
the person using the magnifier.

(Ey Use lens ! and place the object so that the image formed by the lens s at the far point of the
petson using the magnifier,

M= %i‘:_ N(% _,%:).‘: N(é _:i;‘ - g+1 continued on page 5...
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A19. If diffraction is the only consideration, which one of the following microscopes will have the
best resolution?

- > 122X
(A) large diameter lenses used with short wavelength of light a smbf z °
A (B) large diameter lenses used with long wavelength of light sndd 2 I 22,
(C) small diameter lenses used with short wavelength of light o

{D) small diameter lenses used with long wavelength of light ve small.

(Ey  small diameter lenses — wavelength of light has no effect wond A8 4o m

A20.  You have two double-slit slides. Slide 1 has a slit spacing of 0.125 mm and slide 2 ha§_a slit
spacing of 0.250 mm. Both slides are illuminated with light of the same waveleng,th. The .
interference pattern formed by slide | is viewed on a screen at a distance of 1 m }rom the §11de
and the interference pattern formed by slide 2 is viewed on a screen that is at a distance of 2 m

A from the slide. Which one of the following statements is correct coneerning the spacing of }hc
bright fringes in the two interference patterns? mh= dsmb = 4 Y = \é 't ) e l.iw
(A) The fringes have the same spacing in both patterns. ¢ (W

(B) The fringes of the slide 1 pattern are twice as far apart as the fringes of the slide 2 pattern. Hhe
{C) The fringes of the slide 1 paltern are 4x as far apart as the fringes of the slide 2 patiern.  Same.
(D)) The fringes of the slide 2 pattern are twice as far apart as the fringes of the slide 1 pattern.
(E) The fringes of the slide 2 pattern are 4x as far apart as the fringes of the shde | p&tlem.(\/ s
" - AC”;‘S R L is
A21.  Why is it necessary that the active medium in a laser have a metastable excited stale? ¢ rpan oﬁxs'f'm)
{A) The metastable excited state allows for a population inversion to be established, so that
A stimulated emission occurs more frequently.
(B) The metastable excited state ensures that stimulated emission does not oceur.
(C)  The metastable excited state ensures that absorption of all photons is maximised.
(12) The metastable excited state ensures that the photons produced by stimulated emission are
immediately absorbed.
(E) The metastable excited state ensures that the laser medium does not overheat.

A22.  Isotopes of the same element have:

(A) the same number of neutrons but different numbers of protons.
D (B) the same number of ¢lectrons but different numbers of protons.
(C) the same number of neutrons but different numbers of electrons.
(D)} the same number of protons but different numbers of neutrons.
(E)  the same number of protons but different numbers of electrons.

A23.  Anisotope of element X has 38 protons and 52 neutrons. Which one of the following is the
correct notation for this isotope?

B (A) JX (B) X (€) 53X (D) X (E) X

A24. Which one of the following statements concerning the strong nuclear force is TRUE?

(A) The strong nuclear force is attractive between neutrons and repulsive between protons.
(By The strong nuclear force occurs only between neutrons, it does not act between a neutron
D arid a proton or between two protons.
(C) Al of the nucleons in a large nucleus feel the strong nuclear force due 1o all the other
nucleons.
(D) Euach nucleon feels the strong nuclear force only due to the nucleons that are closest to it.
(E) The strength of the strong nuclear force between two neutrons is approximately the same
magnitude as the gravitational force between two neutrons.

¢
A25. A sample initially contains N, nuclei of a particular radioactive isotope. This particular isotope

becomes stable following one alpha decay, with a half-life of 2 days. How many radioactive
nuclet remain after six days?

£ (A) LN, (B) 1N, (€) 3N, (D) 1N, (E) IN,

b= 37, ()= 1

continued on page 6...



Physics 117.3 Final Examination Student No.:

April 26,2011, Page 6
PART B

ANSWER FIVE PART B QUESTIONS AND INDICATE YOUR CHOICES ON THE COVER PAGE.

IN EACH OF THE PART B QUESTIONS ON THE FOLLOWING PAGES, GIVE THE COMPLETE S0LUTION AND
ENTER THE FINAL ANSWER IN THE BOX PROVIDED. THE ANSWERS MUST CONTAIN THREE SIGNIFICANT
FIGURES AND THE UNITS MUST BE GIVEN. SHOW AND EXPLAIN YOUR WORK —NO CREDIT WILL BE

GIVEN FOR ANSWERS ONLY. EQUATIONS NOT PROVIDED ON THE FORMULAE SHEET MUST BE DERIVED.
USE THE BACK OF THE PREVIOUS PAGE FOR YOUR ROUGH WORK.,

Bl. A lunch tray is being held in one hand as shown below. The mass of the tray is 0.200 kg and its
cenire of gravity is located at its geometric centre. On the tray is a 1.00 kg plate of food and a
0.250 kg cup of coffee. The tray is being held paraltel to the floor and all forces on the tray are
acting perpendicularly to it.

0.400 m 5

0.380 m o

0.240 m : t

0.100m | N
0.0600 m, - -

(a) Calculate the magnitude of the force T exerted on the tray by
the thumb, {5 marks) 5 6 L' N
Chosse oxis of rotabon o Pngers amd agply %= 0.

7 T Y Yy 07O

T - Wy = Wply - Wl = ©

1 = /(020014 X 0. 100m) + (1.00kg XO-140m) + (o.zsous\io.naom))
0.0400m

T = 564N

{b) Calculate the magnitude of the force F exerted on the tray by the fingers. If you did not
obtain an answer for (a), use a value of 60.0 N. (5 marks)

TF=0 F0.46N
FoT vy~ WmW, =0

F = (0.200kg + 100Ug+ 0.250ky XAfom/st) + 564N

F= 704N
At aoswer © FH.2 N

continued on page 7...
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B2.

Suppose air, with a density of 1.29 kg/m®, is flowing into a Venturi meter, as shown in the
accompanying figure. The narrow section of the pipe at point 4 has a diameter that is 1/3 of the
diameter of the larger section of the pipe at point B. The U-shaped tube is filled with water and the
difference in height, h, between the two sections of pipe is 1.75 cm. You may assume that the air
can be treated as an incompressible fluid.

L= e s
B A i AT

3

(a)  Caleulate the pressure difference Py~ Py (# marks)

(72 Pa

p& = PP\ +Pw8k

=By = Puch = (1000 kg /39,50 wf s~ X 0. 01 F5 )
Py~ b= 7.5 P = 172Pa

{by  Caleulate x, the factor by which the speed of the air at 4, uy, is related to the speed of the air
at B, vg. e pg=xog; caleulate x. ¢ Bmarks)

Coﬂ"}faw“‘y =5 AE‘UB = AAU;\ 6? 00
FA 2
"“:i(ﬂ%: Tl'c_fﬁu; omd  givem that dﬂ“dm_@
4 4 3
WC‘Q,Z N Cl pa = U3
Sy =z Tldey. .y = Yt A
g 8 4(‘2’)0 B 3
Up= 9

(¢} Caleulate vy, the speed of the air at point B. 1f you did not obtain an answer for (a), use a
value 0f 175 Pa. If you did not obtain an answer for (b), use a value of 6.00. {4 marks)

E)ernsuﬂi’x Pn‘na'pfe : (oo dr\awxﬁe in hu‘s'ki‘) l 82 "‘/S
ot Spi = bt 5o

Po- Pa é‘,%(c""s)z“ ﬁﬁ"&z

o= faz $p, 8O

e
Lo (1,29 k)

At amswee © . FE /s

U‘é « P@“PA
40ps

s 82m/5

continued on puge 8...
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B3.

As shown in the accompanying figure, a 12.0-cm-long cylindrical chamber has an 8.00 cm
diameter piston attached to one end. The piston is connected to an ideal spring as shown.

initially, the gas inside the chamber is at atmospheric pressure and 20.0 °C and the spring is not
compressed. When 0.0650 mol of gas is added to the chamber at 20.0 °C, the spring compresses a
distance of Ax = 5.40 am.

e
1

I
8.00 cm |8
|

J S——

120cem  5.40um
(a) Calculate the initial number of moles of gas in the chamber; i.e. the number of moles in the
chamber before the 0.0650 mol are added. Remember that the chamber is initially at

atmospheric pressure. (3 marks)

= mRT
B> G . ) 0.0251 mal
m, = PN _ (oo P“XW(O'O?%)OJZO«Q
*Ti (B34 T4 i Y20.0°C + 27345)

N, = 0.025! mal

(b) Calculate the new pressure in the chamber after the spring compresses. If you did not obtain
an answer for (a), use a value of 0.0300 moles. (4 marks)

T (a,m;l 2) da not d\mﬂe.

2.52x10° Par
P{\li . Pz,ve:
o,

Oy (e )

"’42/[*‘(0.!74-«)
Pa: 2,52)‘ }OSP&

Alt. Aoswer® 2.2 x 10° Pa

(¢) Calculate the spring constant of the spring. Note that the pressure outside the chamber 1s

atmospheric pressure, If you did not obtain an answer for (b), use a value 0f 2.21 x 10° Pa.
(3 marks)

— 4o x10"N /ey

PZ;P‘+F§§_**5: P, + hax
A A

L - (P,=P)A (252 - 103)x /0P - 77(0-080‘)72)2’
i bx 0.0540 m )

/,Qoxlo’*N/m

Alh amswee i 1] x 10" N/,

continued on page 9...
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B4. Consider two lenses: a converging lens whose focal points are a distance of 10.0 cm from the
centre of the lens; and a diverging lens whose focal points are a distance of 16.7 cm from the
centre of the lens.

(a) An object is placed a distance of 25.0 om from the converging lens. Draw the ray diagram
showing the location of the image that is formed. To obtain full marks you must draw all
three principal rays. (3 marks)

i

A -

3 \,\
{by Calculate the distance of the image from the converging lens, (2 marks)
P9 f

- -t
1° (?L .,_H - <+f:)-0c,m - +2§;Oo«»«) T e

{¢y  Without changing the position of the object or converging tens, the diverging lens is now
placed between the object and the converging lens, a distance of 10.0 cm from the object.
Based on the properties of a diverging lens, does the final image form closer to or further from
the converging lens? (1 mark)

dl‘Wﬁinﬁ - spmdcinﬁ az_Pof"' 'RJ("H\U

(dy For the situation described in (¢), calculate the distance of the {inal image from the
converging lens. (4 marks)

b e 5
R w By
? - X A /8.9 con
Ft ? A AN Fz_t v Fg F& /cbwgmﬂ
\w“\é’:‘*‘\—-«l\x ‘,,V‘.A.:,Jr&x\\‘%/i ‘Ff . lé 7m

AN
F2
el l — __L - - ( q -l
V(5 7) (A )
pzt. tobtﬁ-d_?— 6. 259 con + fg‘Om: 2125(4«\

‘1“’@”3‘5 = - L NT= 89

+i10.0ww 21 28cm

- £.25% em

continued on page 10...
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B5. A particular grating has 302 slits per mm. Light {rom a mercury source is used to illuminate the
grating. Four of the mercury spectral lines have wavelengths of 405 nm (violet), 435 nm (blue),
580 nm (yellow), and 691 nm (red).

(u) Calculate the slit separation, d, for the grating. (2 marks)

I mom

b -3
A.. — = '0"3 1O "o 3.3‘)&!0 mon
302 3.31x mm —

EL

3‘3[x|03nm

(b) Calculate the angular location of the 4" order 435-nm-wavelength spectral line. 1f you did not
obtain an answer for (a) use a value of 3.00 x 10 mm. (2 marks)

{Y\}.\‘; d sm®
9*: jnvsiﬁ("%b)

= 3.7°
At Answer © 35.5°

31.7°

]

P 4(~3gm>

3.3.}“030\“\

#

(¢} Caleulate the maximum value of the order m for which all four wavelengths are visible.
(3 marks).

Fm @ cjiv% O‘rdﬂ.r, red acours ot ‘H\e. j—f-
]W«j@ﬁ' ow\ﬁle.
Miox & d S'hgmw - 3.31x 10" 20 sin ‘?‘0.1. lf 79

M 1S o ]nk.je.r So M yax ” 4

(Sm& QoS us;ni (i'-: B-OOXIObgr\'\M)

(dy Calculate the speed of an electron that has a de Broglie wavelength of 435 nm. (3 marks).

N S 7S

U
h ) 6 b2bx107 3T ¢

mh @ 109 x10™ kg Y 435 %10 )

U:

U= [,é7x!03m/g = L67 km/s

continued on page 11...
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B6. One of the nuclides produced in a fission power reactor is ‘4 1. 1 has a half-life of 8.03 days.
"1 is not produced directly by the neutron-induced fission of U but rather is a product of the
decays of other nuclides.
() Consider the following neutron-induced fission reaction: a+7,U—'{Sn+ /X +3n
Caleulate the values of 4 and Z for the reaction product X. (2 marks)

|+ 235=131+A+3 = A=(02 A: 102
0+92= 50+2+0 = Z= k2 e
z: Lo

() Consider the generic £~ decay reaction shown below. P refers to the parent nucleus and D
refers to the daughter nucleus. Fill-in the blanks to show the atomic number and mass number
of the daughter nucleus, D, in terms of Z and 4. Also fill-in the blank to show the third decay

product. (2 marks)

JP—>"D + 13 + 35
Z+1
(¢) After a series of #~ decays, '3 $n has transformed into ')} 1. Starting with '} Sn, how many
£ decays must oceur for i1 to be formed? (I mark)
Each B~ decay increases Z 'oy 3 3
03|
i ciemays ore rﬁzmrﬁa‘ H foem I fm.. Sn

{d} The Nuclear Safety Commission has determined that intake of drinking water is to be
restricted if thc 711 activity in a sample exceeds 300 Becquerel/kg. On March 20, 2011 the
activity of ‘111 in a sample obtained from a water supply near the damaged Fukushima
Daizchi rwuorb in Japan was measured to be 965 Becquerel/kg. Caleulate the number of days
required for the activity of '1}1 in the sample to decrease to 300 Beequerel/kg. (5 marks)

-t/
REXN N = Nee °) T, = 0.463% 13.5 4

<o R . QO e—- 0-6"3{7/1-,,2

0kasYy E“(_R_> . 0.693¢
) T‘/z

1}

e

o v-ﬂ/z Qy\(ﬁ/
0.693

v om (%5‘> /3.5

R
R, R,

it

t

END OF EXAMINATION



